: %@Wﬁﬁﬁﬁ?ﬁ‘é)
(a) AT (b) TR}
(c) Tfe=Tt weTeh (d) & ot
z,mﬁmﬁﬁ?—mmﬁﬂw%?
(a) 39 T (b) =gy yrft
(c) et ame (d) 7% e
3. 6T F e = w7 )
(a) WY (b) TR
(c) I d) 3@
4. ‘w1 fadm w1 g 3 )
(a) F:Taned (b) 3Taeff
(c) 3 d) 39 o #E 75
s.“afsa'ﬁaﬁamﬁﬁm”mm%mww
?
(2) R 7 (b) Tt
(c) fmEeRr (d) i &=
6. "3t w8t 1 gam &' A ¥ we v we-a
gm 2 '
(a) P (b) 3Tt
(c) s (d) A9y

T.ﬁ:+%QHﬂ'HﬁH?JTﬁTﬁ?

(a) Fresrey ORES

(©) free (d) Frvas)
L %) wfy-fasdg a ot 2

@ f:+ g (b) PR+

©) f9: +4 (d) F: + v
b Freftfire o wt-an o 2 2

(2) Fegey (b) FHuE

©) wgsiife (d) f&m
1 1 o 2 2

@) 99 St wpf

®) 7 & S pf

©) ¥ & iy o

1. ez ¥ F1-m1 T 2 -

(a) fam (b) 5%

(c) wgsitfe (d) TqEy
12. 9 ° & @1 3y &

(a) 319 (b) 3y

(c) 39 d) ¥

Bwr (wo 13415) : Afrfa A8 get FuHt #
A7 FHiferg

13. (a) 9ary (b) HIgq
(c) (d) HImq
' 14. (a) arefiyr (b) Y
(c) 3|g;i_h| (d) AT
15. (a) g=ehul (b) il
(c) Wfteeat @) 9 ¥ =

m 3t

16. Read the following passage carefully and answer the
questions given below it

Games, though essential, should not become the
be-all and end-al] of student life, Generally some
students wasle too much lime on them, and fai in
their examination, One must never devote more than
an hour to sports, and after that, should not even think
about them. Again, if a Player plays a game rashly,
there is every danger of his breaking a limb. If it js
played without the spirit of sportsmanship, it can
lead to bad blood and quarrels. In some of the
colleges there is a traditjon that if the visiting team is
winning a match, the home team plays foul, picks a
quarrel, and tries to injure the visitors. But in spite of
all these minor defects, sports are very useful in
keeping the students busy and in developing their
personalities. India expects its citizens to have the
qualities of true sportsmen. If we all acquire these
qualities, there will be no narrow-mindedm::ss, no
corruption and no injustice. There will pe
independence in the real sense of the word.
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(i) What harm do games do 1o some students ?
(i) Why should one not play a game rashly 7 |
(iii) What does ‘bad blood” mean ?

(iv) What would happen, if we all
qualities of true sporismen ?

(v) ‘In some of the colleges there is a tradition

* which tradition is being talked about

acquire the

17. Write a paragraph in about 100 words on any one of

the following
(a) Importance of Newspapers
(b) Visittoa Historical Place
(c) Pollution
(d) Road Safety
18. Change the following sentence into Passive Voice.
Was he examining the patients ?
19. Complete the following sentence by joining a Noun
Clause.
I don’t know ...... .
20. Fill up the blank with a suitable determiner.
...... flowers are not less beautiful than the rose.
21. Complete the following sentence with the correct
form of the verb given in bracket.
Each ofthem ...... here for two months. (come)
22. Rewrite the following sentence keeping the
subject-verb concord in mind.
The audience is requested to take its seats.

m 7o
18 x 72 x 105
T =47
48 x 315 V2
(a) 81 (b) 729
)9 (d) 1.732

24, 3087 = BE-4-vd fHE e 9 feran
. T v gem qui w7 Bl 2 b "

@) 6 (b) 5
© 4 | (d) 3
25, 3/0.064 + 327 — 729 @1 WA =hW
() 124 (b) =2
©56 d) -56
2. —@;—’Ff F1 AF g
@ 7 g s,
© 21 s

27.-qﬁ ,(I+y+z)=10 3:?"{ 2 2 _
EI;H yz + zx) SR 2 o o
a) 60 -
(c) 40 8; ;g

28, 274’ - 64 - 108a” + 144a 1 TFETE T

(a) 3a+ 4)(3a+ 4)(3a+4)

(b) (3a—4)3a— 4)(3a—4)
(c) Ba- 4)(;}a + 4)(3a & 4)

(d) SR A/ FE T

29, U feRifelT
0.65x 0.65% 0.65 +0.35x 0.35X 0.35

0.65% 0.65x 0.60 77207 === ——

0.65% 0.65— 0.65x 0.35+ 0.35% 0.35

(a) 0 (b) 1

(c) 25 (d) 100
so.mq@raﬁaﬁméﬁﬁ—ﬁﬁéﬁaﬁsﬁgh

o g ©, @ "en #® e ?

(a) 19 (b) 20
(c) 21 (d) 22
a1, 3 1, x o1 T Frepret, fa@d 4BC, BD @ = §
D
4x-30°/ .
C ~— 3 o
B A
(a) 40° (b) 35°
(c) 45° (d) 30°

19, feu mw fom ¥, aff PO ||RS, ZOPT =115° 3
/ PTR = 20°, 9@ £ SRT SR &M

o S
\1\150 ‘&:\
P <

T
20°

(a) 155° (b) 150°
(c) 135° (d) 95°

33.ga;aaﬁmaﬁnga;ramﬁq,ﬁmaﬁ
Fard 21 SR qun oMuR wi i 5 A A
(a) 540 HHit? (b) 560 Q2
(c) 640 @Y’ (d) 660 V2

34, 64 Sl ) et U Te1 e = T R
e 8 Ot 2, 7w ©R e # e B

(a) 1970 (b) 2 it
(c) 39+l (d) 43t
35. U ©F [ fasw0l 274/3 it © e 7
. , T9 FHH
(a) 4354 ¥t (b) 4374 T2
(c) 4364 WY (d) 4344 T’
36. T W 1 SA 12 T qen S loﬂ"T%"‘ﬁ‘
Y% T WAE! A F41 BN ?
(a) &zﬂl ®) 23_1%#‘2
21712 20712
i 8o
(©) = Ht (d) Tﬁrz
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. o Tl 7 o ST T W 12% @ A W (a) 7500 To (b) 20000 %°
3, v a8 F faa 757 264 o ®1 g W aifirw (c) 7000 Fo (d) 5500 e .
e W 2 ' 46, o) o A 5 i AR = F TCH 500
(a) 300% (b) 216 %o To F1 W 50 To B MM ?
(c) 312 %o (d) 325 Te (2) 2 91 (b) 5@
49, T ST TH FR 60000 Fo F Tlia 2 ik 38 W (c) 34 (d) 4@
10% 1 T R A W T R 159 AT 47, 27971 & 400 Fo, 441 To 7 oM 1 AL TH 5%
¥ fau 38 FR & fhad § d=m1 =ife 2 T gfg @ W, @ U T 2
(a) 79500 %o (b) 74500 To (2) 484 %o (b) 560 ¥ _
(c) 75900 Fe (d) 73500 %o (c) 512 %o (d) T T P T

30, A 3R Bt & B 12 foll F w5 @1 B cIw S ) 4 2 2 % S BT R
Fm 15 e § au C 3t A 38 w1 i 20 A A 48'g$ﬁma;%mﬁjmh3.lméﬁuaﬁa
F@ ¢, @ dA freer 39 &m R fee A A mmﬁ%ﬁﬁwwadﬁ'ﬁm?ﬁ

F ? ¢ v F W ST ¥ e F et B
© 15f3 (d) 10fsT (©) 51 e (d) 48 Tt

20, for o T F T 12 fEdara QAR TR a4 37 4 g e @ TETS & AU [1:00 =t I
g e | w6 el w2, @ e @ éoﬁ:ﬁmﬁwﬁaﬂﬁéléﬁBmﬁnﬁ@

<0 B A § g fEe v A @ w2 W@@ﬁmzaﬂﬁqﬁnﬁﬁn’rmﬁ\
(a) 20 fie (b) 30 fFe e d et ¥ 9 3 wh-gm ¥ feed =@
() 15 fFe (d) 10 fr= figerdt 2
2, a2, 22 2 _ x4 D2x+1) . i 399 gae
aak P42+t = %b;gazﬁasaﬁﬂﬂ%’
432+ 52 +... + 19 SO T (c)@iﬁqsaﬁmaﬁ
(a) 1330 (b) 2100 (d) ST § & I I
(c) 2485 (d) 2500 50, % Fre 1 A g 6 A, § T S 10 T
4o, e 3R D O F v oy 27 7 €)W o A ¥, 7@ B | S B
ﬁgﬁﬂﬁﬁwaﬂﬁlzﬂzﬁlﬂﬁﬁfﬁl% (a)g-g—;ﬂ (‘b‘)ﬁﬂtﬂ
@9 4 99 =1 o= ¢, A e @ aEE g I () 4.8 qrt (d) 4.4 2t
et ? 51. T 3TAA I T WA S Rl A AR @
(a) 3474 (b) 47 =d ¥ ¥ T 10 A & INACTS IMUR T G S
(c) 647 (d) 277 21 afx s w1 qfEg 36 W ¥, T FHIRL TG
43, valu 30 fEm = 8.50 Fo I T A 3R 20 W &1 GBS B
a9 To & X W WA 81 M1 AHT W 20% (a) 100 JTit? (b) 80 WY
mqﬁﬁimaﬁaﬂmﬁmﬁﬁm'ﬂm7 (c)gl'@'l:ﬁz (d)ﬁoﬁﬂ“ﬂ
(a) 9.50 %o (b) 8.50 Te 52, R SRR o P o 5 A 3w fm @ 98
(c) 10.50 To (d) 12.00 Te @ W HIY F g § SIS 41 g 2
w4, 3 S TR T 720 H Fo T & feard W (a) 750 Q2 (b) 1500 Tt
3 TR ¥ T B TF A F 40 To WA AR (c) 2250 Hrit? (d) 7002
20 2 o g A 5% F) g 'R TR T 53 A P =117+ p o g=34 5T a+ bFT
§ S & AT ¥ fwan TR B 7 7
(a) 0%o o (b) 4T @%7 ()49 (@0 @D
. (c) 6.20 %o (d) 10 T a.soﬁﬁmwﬁwmﬁwﬁﬁm
| &5.THw 20 e 1000 T F WA ¥ T R maﬁqﬁmoﬁmaﬁm%ammw&w
| A 500 To W I # T Y 3 WX aw T 8 T 200 @ 7 2, 7 T FE?
myﬁmmosowmﬁm%la’laﬁ (a) 40 %;Iﬁ

o 1 g T8 @ B € 7 () 32

1
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55. 36 safe faet Fm &) Fifvad ama § 5@ §1 afeT
9 wafwmEl & o 3 W W FW 5 7 Twe wuE
& T 1 @ 20 =R T FW A e A F

Fi ?
(a) 30 fm (b) 35 fA
(c) 40 & (d) 45 fa

AR B T 120 fFlt 1 @ FR & A wmg A
I IO F & gl D FR SR e fam §
=@ €, @ a8 | uR § faw 9w € ok ARk @
fawm o wor B, 4t 6 9w T foe) 1 IR A4 =t

56.

2?2
(a) 70 fFmt/auar (b) 120 fwdi/ave
(c) 60 fereitrama (d) s/ svata
57. 39 it o 5 o, Fewave o 3,5 A 2
a‘fqaaﬂahqa—dﬁﬁrl%—rm
(a) 8.5 T2 (b) 8.75 T2
(c) 7.75 @2 (d) 7.50 G2
n Hifos s
58. YT 99 W e &
(a) AT b) @ ()W  (d) =
59. T a5 15 919 ¥ @ 9% vy WO 91w
THT @
(@ ¥ 2 \
(b)sﬂ;gné?@mﬁé g
() an Wl @5 HI0 9 gFar § .
(d) T8 A & wrEEq #

60. TF 3T 7 R/ 7eaft & =R} 3R Wt T W
3T H WA AR e Ry 2

(a) T (b) e s
(c) & =i () YA T H
61. T ¥ F9 W T 9 Wahw & 5 wug A
% T G @ 2w ?1 g sy 3
(a) 3T9aeq (b) Y=l
(ORLELE] (d) faadq

sz.mmfﬂjémﬁ@gﬁmmg_,
(a) SramER T YEW & =
waﬁ?%a»‘gé? ™
(b) GrEE THN & v %
(c) G4 & TFW & I & Hro m.
(d) amaEl 894 & a9 % wroy
63. S i TET § FeIled 21wt Wt wyt &
(a) = Fel (b) faega ==t
© (c) @ Fel (d) fear =i
64, et d @ e Mo ¥ et vad dg 4 @

T & GFA T ? .
(a)tﬁﬁ?f (b) ETEZISA
(c) SitaT (d) =

5 Ii ‘ )

65. RS AR & el &
(a) 63% 1 T 37% &€
(b) 63%27{3 q37% fea
c) 63% q937% Q(_"ﬂri fram
Ed; 63% oS a37%@ﬂ2’ﬂ
66. T4t Y o Hd ©
@ i (b) TegFfE @
() B (d) faer @
67. ¥ATCHe FeRTull &t @ISt <t ‘
(a) & A (b) T A
(c) Meew=H A (d) afFg =
68. T 2 aTavas ‘IC fau’ wmrq: fAfifa Bid &
(a) Hram (b) fafer=ia
(c) whifm (d) ot
69. =1 o & o Tl fFu® Ww Fw €
(a) THag Wamw (b) Tiaslg faavea
(c) Tamfe sAfufsra (d) Teetg gefe

B IWOH s

70. 9@ &1 a7 § ufigd 2

(a) Th THEf ftEd

(b) TF Hifas ufads

(c) T Wiepfas afterds

(d) TF J9-wrE T
7. TR SeE @

(a) T i (b) =

(c) S = (d) T =
2. A se-m e R
(a) &I (b) TTEe
(c) 3= (d) Tafes
@ F pH 5 &
(a) 7.3 ®) 75 ()74 (@ 76
T Wopfa § w9 wem
@ 118 (® 92 (¢)230 (4) 23
75, OF " w1 e ‘
(a) T & 6.023 x |02
(b) = $6.023x1023
(€) T & 1.6 x 10" qwypoy
(d) S @ 518 7 :
ﬁtrﬁﬁaihﬂas@mmmwﬁaﬂﬁ%?
(a) TEfeay

(b) Fifam
(c) SneAi-ETgIeM

(d) ST ¥} B Ty
7.7 ° @ P sy @ )

(a) CaF
(&) NaCl E‘;; %Clz

13.

74,

76.
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sa.@zﬂammﬁﬁqﬁ@mawmﬁm%?

@ [ (®) Yt b) Vrard
o o A0 @ g (@) v @
nﬁﬁﬁ‘mﬁ”’ﬂmmﬂzﬂ% 9, Tl F wiw W Frfor g @
(a) TP (b) . .
(c) Tafom g (d) vt (a) ;ﬁ?ﬁﬁ il g
FTopRE F1 THEAS A € (c) @ )
80'(a)p ®P, (c)P @ P so.ﬁmﬁa}qﬂﬁaﬁam@ﬁaq@ﬁﬁiﬂ
4 8 5 &
g1, e wwa A T o F v fwar s @ 2 2 -
(a) A (b) “Eiferam (a) ™™ (b) fR
(c) SRS (d) TG (c) wofgd () Fif .5
go. ‘i’ foFma dfes Tm 7 2 o1, fr=1 §, frgdr wPm | griia e Tl T
(a) 3 (b) TR (a) T (b) T
(c) TS (d) 7 ¥ w7 (c) ek & (d) FECF
y Sha fae o2, TS TR T B W WA T 5w § ?
| |
(2) HEATE (b) FHfEr
. R A @ fre F 2 (:)ﬁﬁwﬁﬂ @ S |
g;ngallwﬂg(%ﬁnnﬁ '93.ﬁﬂmﬁmﬁaam%,ﬂﬁ=rmmmﬁ
(c) e Aee A e © 2 ' .
(d) o ferfeg w41 A (a);T;ﬁTiﬂﬁ g mﬁﬁ
AR PH EeE ® ? () i ]
u(a)w () T 94, @HX ¥ T TR B © ?
©) & (d) & (a) fareifir-A (b) faaif-D
85 B 9 Fpd oTeTEe’ &1 el FE W © 2 (¢) frfiA-c (d) TEEITTEA
(a) TRHHE Ht ‘ o5, g faife, Fredl hiaTee YR SR §, HH-¥1 8 2
(b) T'I'Isﬂhﬁq £ (a) By (b) B, (c) B (d) By;
(c)?311‘*"*'?;[5’”'5r 96, YR &1 98 FF-W 37 &, W S # Tl 9 e
- (d) TR _ 3
as.ﬁmﬁﬂﬁmweﬂﬁﬁgﬁmtrﬁaﬁ%? (a) TE (b) I
(2) eR9IElH (b) @HiferaielT A (c) ATSTA (d) &4
RORLad (¢) iy o7, et el YR ol e F el
o7, W 9 fafem A W B2 22
(a) i a2 (b) e (2) FEIEESE (b) et
(c) =yt (d) Tt (c) @S (d) =@
" 'Ilmﬂvmﬁ'w::m/w'f S e
L.( A . 8. 4. (a) 5. (b) 6. (c) 7. (b) 8. (a) 9. (b) 10. (b)
“1L Eg; 1:. E;)) 13. Ei; 14. (2) 15. (b) 16. (») = 17. (®) 18. (%) 19. (%) 20, ()
21 () 22, (v 23.() . 24.(d) 25.(d) 26.( 27.(b) 28.(b) 29.(b) 30.(2)
3L.(d) 32.(c) 33.(d) 34.(b) 35, (b) 36.(c) 37.(a) 38 (c) 39.() 40.(a)
AL (a) 42 (b) + 43.(c) + 44 (0  45.(9, 46. (a) 47.(a) 48.(d) 49. ()  50.(c)
81 52 (a) 53.(a) 54(0) 55() 56 57.(0) 58 © 59.(d) 60.(d)
=l ez (y 63.() 64 () 65.() 66.(a) 67.() 68. (b) 69.(a  70. (D)
o 7a@ 4@ 750 76.() 77.() 78 79. (b)  80. (c) -
. (c) 83.(a) 84.(D) 85. (b) 86.(a) 87.(a) 88 (b)) 89.(a 90. (b)
@ 93.(b). 94 @ 95.() 96 (@ 9. (a)
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Hobq vd &l

24,

16. (i) Some students waste too much time on sporls
and as a result they fail in their examination.

(i) One should not play a game rashly because
there will always be a danger of breaking a
limb if one plays a game rashly.

(ii1) ‘Bad blood’ means feeling of hatred or strong
dislike.

(1v) If we all acquire the qualities of true sportsmen,
there will be no narrow-rmndedness no
corruption and no injustice.

(v) The tradition which is being talked about hcre
is that in some of the colleges if the visiting
team is winning a match, the home team plays
foul, picks a quarrel and tries to injure the
visitors.

i Importance of Newspapers

17. Newspapers play a very important and crucial role in
enlightening and educating the people. In present era
of IT revolution, globalisation and liberalisation,
newspapers’ role has further strengthend and become
wide spread It is the cheapest mode of
communication and source of world’s knowledge
and even today it plays a role of critical opposition,
necessary for the success of democracy. Newspaper
commands such an educative value that it can mould
the public opinion, it can change the attitude of the
people, it can force the rulers to amend their policy
making and force them to enact some laws, banning
some social evils prevalent in the society. India is a
developing nation, where 70% of the population live
in villages, where the facilities of TV, Internet and
other means of communications are beyond the reach
of a common man, so the newspapers are the only
source of news and knowledge of common mass.

18. Were the patients being examined by him?

19. I don’t know where she has gone.

20. Some flowers are not less beautiful than the rose.
21. Each of them has been coming here for two months,
22. The audience are requested to take their seats.

3087
102
343
49

|

o

]

3087 =3x3x TxTXx 7

of 7 T & f 3 @ I/ T wE wgm,

25, 30064 + 427 -¥729

30.064 =304x 0.4x 04 =

Y27=33x3x3=3
Y729 =33x3x3x3%x3x3

0.4

=3%x3=9
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=04+3-9=-56
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. (x+ y+2)=10
T SR O F@ ),
(x+ y+ 2:)2=(10)2

X4 Y 42 24 24 2 =100

=

=

=

=

40+ 2(xy+ yz + zx) = 100
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28. 272" - 64 - 10842 + 1444

[’ -8~ 3ab(a—b)=(a~b)’ Swam 0 R 1

(4)’ - 36a(3a - 4)
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“ 15120 '=Qa-4)
?7=8l =(a-
ﬁmi E e
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fe 3N ® ]
3 (0.65)° + (0.35)° 34, 7T BR wie =t ﬁan rel
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3 3
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i = 4374 Qi
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< = 66000 o -
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40. T o uR & = = x ft/eoe, @=
qmﬁﬁwﬁ‘ams:%

= (12—x)=%

= x = 6 ferti/aoa
qmﬁferqﬂaf@nﬁ:(me):?

= t=%w=%x60=20ﬁﬂ'¢'

M1+ 22 4304+ 197
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= fawa 1@
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] o = 1000 o
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46.

47.

48,

49,

5000 = 10000 — 1000 =X
x = 7000%°
=
— 59, & = 50 %o,
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d .
o & x 100
= AU X
_ 50100 _ 5 of
500% 5
r 2
= 1+ —
fru gC ¥ ¥, 441 400( 100]
441 r
=114+
= 400 ( 100)
21} ry
—_— =14+ —
= (20) ( 100)
21 4,7
= 20 100
_2_1_ T
= 20 100
r 1
= - 100 20
= r=5%

. T RX=5+5=10%
10)?

LE| =400(1+—)
100/ -

—a00x 2 x 1L = 484 wo
10" 10

(1 1 1) 1

— | ==

4 6 x 6

i 3r+7.x—12=l
12x 6

q 5x—12=l

12x 6

ai 30x -72=12x

a 30x-12x =72

a x=4¥w

" YT =4 x 12= 48 WA
ST 37 B2 T QYR Y Al YE I 8, 99 O
3 4 180 T5eft o o <t ot 31 1 o2 ¥ @ @l
™ Tl = (72 - 60) = 12 forelt e

= 127Fh 0 1 v F @ IR

=180W§ﬂ‘%°=1smeﬁmaﬂ

s w15 U9 | firgh
| gow 5t 5 =

>l )
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1
50. A ABC F1 &A% =5 X 4B x BC

1
==X
2 AC x Bp
A
P
8 10
B 6 C
l><8><6~-1 10
= 2 —2>< X BP
= BP =4 89t
51, 349 1 YRHEN = 36 St
= 2(/+ b)=136
= b =89t
A
!
2 B &
10 1t
S =R @ T 8%

= 3MYR x $91E = 10 x 8 = 80 A2
52. 99T Wt TS (/)= 5 x 7 =35
N &t A (b) = 59t
T F HEE () =5 At
~qAE T &TBA = 2(/b + bh + hl)
=2(35X5+5%x5+35x%x5)
=2(175 + 25 + 175)
ey =2-(375) = 750 @’
Ba=117+p da=3+b
= @ - =1173Ra-b=3
(a-b)=a’-b* - 3ab(a-b)

=4 27 =117 - 3ab(3)

o X ab=10
B~ (g =dab

*’ i @+ b2 =4x10+ (3P =49

’-b+b=i7

@)
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54,

55.

56.

AR R arx qeny ¥
, x+ y=60 2(ih)
3x-100=200-8y
a " 3x+ 8y=200+ 100
A 3x+ 8y=1300 ...(ii)
Tt (i) H 3/ M R W,
3x+3y=180
3x + 8y =300
-5y=-120
a y=£50:24
W(i)ﬁyﬁmmwﬁm,
T + 24 = 60
a x = 60— 24 =36
x =369 y=24
T8, 36X d=45x (d —5)
il 36d = 45d — 225
a1 45d — 36d = 225
a 9d =225
kL d=25
36x25=20x d
al 900 = 204
900
a —2—0_45ﬁ=r
TYITER, xaﬁ”{yé?gf F & =
(.r>y),?IES-F
x+ y=120 ...(1)
x—y=20 ...(ii)
(i) 3T (i) W TA FE W,
x+ y=120
x—y=20
2x = 140
x=70
Tl (i) H x & AE @A W,
x+ y=120
al 70+ y=120
a y=120-70
a y=50
R x =703 y=50
.A=—l.’r
2 .
=—;-x 3.5x 5=8.75 @’
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